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Sd check 

Known Driver Thiele / Small Parameters  

fd 30.4 Hz⋅:=  Qmd 3.41:=

Re 7.2 ohm⋅:=  Qed 0.39:=

Bl 27.6
newton

amp
⋅:=  Sd 1029.2cm2

⋅:=  (1 newton/amp = 1 Tesla-m) 

Calculated Parameters 

Derived Thiele / Small Parameters 

Qtd
1

Qed

1
Qmd

+⎛
⎜
⎝

⎞
⎟
⎠

1−
:=  Qtd 0.35=

Mmd
Bl2 Qed⋅

fd Re⋅
:=  Mmd 216.021gm=

Cmd 1.269 10 4−
×

s2

kg
=  Cmd Mmd fd

2
⋅⎛

⎝
⎞
⎠

1−
:=  

Vad Cmd ρ c2
⋅ Sd

2
⋅⎛

⎝
⎞
⎠⋅:=  Vad 190.21liter=

ηo Vad 2 π⋅ c3
⋅ Qed⋅ fd

3−
⋅⎛ ⎞

⎝ ⎠
1−

⋅:= ηo 1.352 % =



 
SPL 112 10 log ηo( )⋅+:=  dB SPL 93.3=  
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Constant Definitions 

cycle 2 π⋅ rad⋅:=  

Hz cycle sec 1−
⋅:=  

c 344 m⋅ sec 1−
⋅:=  

ρ 1.21 kg⋅ m 3−
⋅:=  

User Input Data 

Known Driver Thiele / Small Parameters  

fd 30.4 Hz⋅:=  Qmd 3.41:=  

Re 7.2 ohm⋅:=  Qed 0.39:=  

Sd 1029.2cm2
⋅:=  Vad 190.2 liter⋅:=  

Calculated Parameters 

Derived Thiele / Small Parameters 

Qtd
1

Qed

1
Qmd

+⎛
⎜
⎝

⎞
⎟
⎠

1−
:=  Qtd 0.35=

Cmd Vad ρ c2
⋅ Sd

2
⋅⎛

⎝
⎞
⎠

1−
⋅:=  Cmd 1.254 10 4−

×
m

newton
=  

Sd 0.103 m2
=  

Mmd Cmd fd
2

⋅⎛
⎝

⎞
⎠

1−
:=  Sd

m2
0.103=  Sd

Sd

m2
:=  Mmd 218.567gm=

Mms Mmd 0.575 Sd
1.5

⋅ gm⋅+:=  Mms 0.218586kg= Mmd Mms:=

Bl
fd Re⋅ Mmd⋅

Qed

⎛
⎜
⎝

⎞
⎟
⎠

0.5

:=  Bl 27.763
newton

amp
=  (1 newton/amp = 1 Tesla-m) 

ηo Vad 2 π⋅ c3
⋅ Qed⋅ fd

3−
⋅⎛

⎝
⎞
⎠

1−
⋅:=  ηo 1.329%=  

SPL 112 10 log ηo( )⋅+:=  dB SPL 93.2=  



I started here to check Vas ! 
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Constant Definitions 

cycle 2 π⋅ rad⋅:=  

Hz cycle sec 1−
⋅:=  

c 344 m⋅ sec 1−
⋅:=  

ρ 1.21 kg⋅ m 3−
⋅:=  

User Input Data 

Known Driver Thiele / Small Parameters  

fd 30.4 Hz⋅:=  Qmd 3.41:=  

Re 7.2 ohm⋅:=  Qed 0.39:=  

Sd 1029.2cm2
⋅:=  Vad 243.8 liter⋅:=

Calculated Parameters 

Derived Thiele / Small Parameters 

Qtd
1

Qed

1
Qmd

+⎛
⎜
⎝

⎞
⎟
⎠

1−
:=  Qtd 0.35=

Cmd Vad ρ c2
⋅ Sd

2
⋅⎛

⎝
⎞
⎠

1−
⋅:=  Cmd 1.607 10 4−

×
m

newton
=  

Sd 0.103 m2
=  

Mmd Cmd fd
2

⋅⎛
⎝

⎞
⎠

1−
:=  Sd

m2
0.103=  Sd

Sd

m2
:=  Mmd 170.514gm=

Mms Mmd 0.575 Sd
1.5

⋅ gm⋅+:=  Mms 0.170533kg= Mmd Mms:=

Bl
fd Re⋅ Mmd⋅

Qed

⎛
⎜
⎝

⎞
⎟
⎠

0.5

:=  Bl 24.523
newton

amp
=  (1 newton/amp = 1 Tesla-m) 

ηo Vad 2 π⋅ c3
⋅ Qed⋅ fd

3−
⋅⎛

⎝
⎞
⎠

1−
⋅:=  ηo 1.703%=  

SPL 112 10 log ηo( )⋅+:=  dB SPL 94.3=  


